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First of all, it’s very important to remember that the
of the function. These will also be referred to as o

. They all mean the same thing!

secondly, you must learn and apply the Zero Product Property which states
Ifa-b=0,thena=00rb=0
EX2: (2x+1)(6x—7)=0
=N

EX 1: Solve (x +3)(x—5)=0
X $B=O x-5=0 7 -
-G - 2 =0 G-
4753 F5 t5 Vy /T
sc =3 g = 5 gfa;:"z & ”Z
A
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EX6: 3x2—-12=0

EX5: x2+7x+10=0 10

(;t +5)(x.f—2)-“0 5Y 2

Z+50  2c+2=0
-5 -2 =2 =Z
-z =-5 x =-Z
Let’s see what role the graph of the polynomial plays. ..
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